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8. In the diagram of [image: ] below, [image: ], [image: ], [image: ], and [image: ].

[image: ]

What is the length of [image: ]?




9. In [image: ], point D is on [image: ], and point E is on [image: ] such that [image: ].  If [image: ], [image: ], and [image: ], what is the length of [image: ]?
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           12. In the diagram of [image: ] below, [image: ].

[image: ]

If [image: ], [image: ], [image: ], and [image: ], what is the length of [image: ]?
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17. In the accompanying diagram, line segment BC is parallel to line segment ED. = 2,  = 4, 


      and = 9, find the length of .
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     18. In the diagram below of [image: ], [image: ], [image: ], [image: ], and [image: ].

[image: ]

What is the length of [image: ]?
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     20.  In the accompanying diagram of equilateral triangle ABC, [image: ] and [image: ].

[image: ]

If AB is three times as long as DE, what is the perimeter of quadrilateral ABED?







21. In the diagram below of [image: ], with [image: ] and [image: ], [image: ].
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Which statement is false?
	1)
	[image: ]

	2)
	[image: ]

	3)
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	4)
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image6.png
In the diagram below of right triangle AED,

B
A C E
Which statement is always true?
AC_DE BC
(1) 4¢-DE (3) 20_5C

AB _BC DE_DB
@ 35-DE 0 56=35
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| In the diagram below of APQR, ST is drawn parallel to PR, PS = 2,
SQ =5.and TR = 5.

Q

What is the length of QR ?
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In the accompanying diagram of AABC, AB = 5, AC = 10, and BC = 13.
Triangle DEF is formed by connecting the midpoints of the sides of AABC.

A

B E [

Find the perimeter of ADEF.
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- In triangle ABC, points D and E are on sides AB and BC, respectively,
such that DE || AC, and AD:DB = 35,

B

A C

1f DB = 6.3 and AC = 9.4, what is the length of DE, to the nearest
tenth?
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In AABC, find x given that DE 1 AB.

[

x+2 aorr !

x
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In the diagram of AABC below, DE is parallel to AB, CD = 15,
AD =9, and AB = 40.

[

The length of DE is
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MABC
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DE || BC
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DE || AC
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In the accompanying diagram of AFGK, C is the midpoint of FG and D is the
‘midpoint of FK.

G

D

IfCD = 2x and GK = 3(x + 3). find x.
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In APQR below, S and T are midpoints of PQ and QR, respectively.

Q
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DE || AB
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In the accompanying diagram of AABC, D is the midpoint of AB and E is the
midpoint of BC.

c

If DE = 5 and AC = 2x - 20, find x.
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The lengths of the sides of ADEF are 12, 16, and 20. Find the perimeter of the
triangle formed by connecting the midpoints of the sides of ADEF.
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In the accompanying diagram of 4ABC, AB = 6. BC = 8, and AC/
'Y, and Z are midpoints of AB, BC, and AC, respectively.

B

A z [

Find the perimeter of quadrilateral XYCZ.
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In triangle ABC, D is a point on AB and E is a point on AC such that DE is
parallel to BC. If AB = 12, AC = 15, and AD = 8, find the length of AE.
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V|| BC
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In the accompanying diagram of AABC,
and CF =5,

What is the length of FG?
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DE || AB
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CDEA
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BGFA
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EF || DG || CB
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Triangle ABC and triangle DEF are drawn below.

If AB = DE, AC = DF. and ZA = £D, write a sequence of transformations that maps triangle
ABC onto triangle DEF.




image3.png
Triangle QRS is graphed on the set of axes below.

y

On the same set of axes, graph and label AQ'R'S’, the image of AQRS after a dilation with

ascale factor of 3 centered at the origin.

Use slopes to explain why (R || OF.
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In ACED as shown below, points A and B are located on sides CE and ED,
segment AB is drawn such that AE = 3.75, AC = 5, EB = 4.5, and BD = 6.

Explain why AB is parallel to CD.
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In APQR below, S and T are midpoints of PQ and QR, respectively.

Q

[ R

IFST=122nd PR = 2x + 4, what is the value of x?
A 10 B) 8 c 1 D) 4




